
 

 

A. Choose the Correct Answer: 

1. According to extended laws of exponents, (
𝑎

𝑏
) ᵐ × (

𝑎

𝑏
) ⁿ equals: 

a) (
𝑎

𝑏
) ᵐ-ⁿ    b) (

𝑎

𝑏
) ᵐ+ⁿ 

c) (
𝑎

𝑏
) ᵐⁿ    d) (

𝑎

𝑏
)

𝑛/𝑚

 

2. The simplified form of (
𝟑

𝟒
)

2

 ×  (
𝟒

𝟑
)

2

  is: 

a) 1     b) 2 

c) 
3

2
     d) 4 

3. (
𝟐

𝟓
)

3

÷  (
𝟐

𝟓
)

2

 simplifies to: 

a) (
2

5
)

5

     b) (
2

5
)

6

 

c) (
2

5
)

1

     d) (
5

2
)

1

 

4. (7²)³ equals: 

a) 7⁶     b) 7⁵ 

c) 7⁹     d) 14⁶ 

5. The expression 
𝒂ᵐ𝒃ⁿ

𝒂ᵖ𝒃ᑫ
 simplifies to: 

a) aᵐ⁺ᵖbⁿ⁺ᑫ    b) aᵐ⁻ᵖbⁿ⁻ᑫ 

c) aᵖ⁻ᵐbᑫ⁻ⁿ    d) aᵐᵖbⁿᑫ 

B. Write the Missing Terms to Complete the Sentences: 

1. (
𝑎

𝑏
)

𝑚

÷  (
𝑎

𝑏
)

𝑛

=  (
𝑎

𝑏
)

…

 

2. 
𝑥ᵐ𝑦ⁿ

𝑥ᵖ𝑦ᑫ
 =  𝑥𝑚 – 𝑝  ×  𝑦…  

3. (2³)⁴ = 2… 

4. (
𝑎

𝑏
)

0

 =  __________ 

5. (aᵐ)ⁿ = a… 

 

 

Extension of Laws of Exponents 



 

 

C. Figure out the answers to these questions: 

1. Simplify (
5

6
)

3

 ×  (
5

6
)

2

 

2. Find the value of (
2

7
)

5

 ÷  (
2

7
)

2

 

3. Simplify (4²)³ and write the answer 

4. Evaluate (
3

5
)

4

×  (
5

3
)

4

 

5. Simplify (x²y³)² ÷ (x³y²) 

D. Mark each sentence with a True (✔) or False (✘): 

1. (
𝑎

𝑏
) ᵐ ×  (

𝑎

𝑏
) ⁿ =  (

𝑎

𝑏
)

𝑚+𝑛

. _____ 

2. (
2

3
)

3

 ÷  (
2

3
)

2

 =  (
2

3
)

1

. _____ 

3. (
5

6
)

2

 ×  (
5

6
)

2

 =  (
5

6
)

4

. _____ 

4. (𝑎𝑏)ᵐ =  𝑎ᵐ𝑏ᵐ 𝑎𝑛𝑑 (
𝑎

𝑏
) ᵐ =

𝑎ᵐ

𝑏ᵐ
. _____ 

5. (x²y³)² = x⁴y⁶. _____ 

E. Challenge yourself with these questions: 

1. Find the value of (
3

7
)

3

 ×  (
7

3
)

3

 

2. Simplify (
6

11
)

4

 ÷  (
6

11
)

2

 

3. Find the value of (5²)³ ÷ 5⁴ 

4. Simplify (a³b²)² ÷ (a²b³) 

5. Simplify (
2

5
)

3

 ×  (
5

2
)

3

 

  


